=LFDb

*UXSD 5R]NiDG $"0 0 $2L.3 7\J
7™ 7™NJ 7™
3UJHGPLRI VZRERGQHIR 3UJHGPLRI VZRERGQHIR
=DVDG\ XVIIRIX Z\ERIX : 3R Z\ERIX - 3R
=z SRUAF]QHIR 2(HNVDQGU SDGFKHQNR = 2IHNVDQGU SDGFKHQNR =
I 5THFT\SRVSRIUIHI 3RVNH) % $"00 = % $"00 :
,2' z \GZURKBE_;/"RJXWDZ = VSysFTHVQD JHRIUDILD = VSysFTHVQD JHRIUDILD
D) SUINZRWD =% SRUNF]QD SRUNF]QD
T $"00 z
o _ U GURGD
& DICFLD IDN Z
SRQHGIIDIHN
_ U SICIHN
1DICFD IDN Z
SRQHG]LDHHN
=
[N}
7N 7N 7N 7N
3XELF]QH SDZR 3UJHGPLRI VZRERGQHIR 3U]HGPLRI VZRERGQHIR
A NRQNXUHQFIL Z GU JQIRIPDFID Z Z\ERIX = 3R Z\ERX = 3Rl
3 = RINRZIDN $QQD =% DGPLQVIUDFIL SXELF]QHI 2IHNVDQGU SDGFKHQNR = 21HNVDQGU SDGFKHQNR =
4 $"00 = Z G = \VRJlaG % $"00 = % $"00 =
T ING]IHE  JDICFLD aXNDVIN szgngQD =% = VSy{FTHVQD JHRJIUDID = VSyFTHVQD JHRJUDID
PLOXI $ - SRUNFQD SRUNFIQD
_ U ZIRUHN
1DICFLD IDN Z F]ZDUHN
7N 7N
z 3U]HGPLRI VZRERGQHIR 3UJHGPLRI VZRERGQHIR
= Z\ERIX = 3Rl Z\ERIX = 3R
o) 21HNVDQGU SDGFKHQNR = 2IHNVDQGU SDGFKHQNR =
'N' % $"00 = % $°00 =
w = VSyiF]HVQD JHRIUDILD = VSy{FTHVQD JHRIUDILD
SRUNFIQD SRUNF]QD
7N
=DU]3G]DQIH JDVREDPL ™N
IXGINUPL Z DGPLQLVIUDFIL
SXELF]QHI Z G %LIQHU 3UTHGPIRI
(2D =% $"0 VZRERGOH
o : JR Z\ERUX
z INGJIHE  JDICFD - SR
I PIOXI 2IHNVDQGU
o SDGFKHON
Q R =%
0
N $00
3UJHGPLRI VZRERGQHIR -
Z\ERIX : 3R e
21HNVDQGU SDGFKHONR = Q-DVSWF] HV
% = -
° $700 JHRIUDIID
- VSyaF] HVQDJHRJUDILD SRE‘U‘/\F] QD

SRUNF]QD

6R




=LFDb
*UXSD S5R]NEDG $"0 O $2L.3 7\J




